
FRQ - Italy’s Population Concerns - 60 Minutes 
CAUSES 
1. Explain why Italian men are not marrying in larger numbers. 
2. Explain why Italian women are not marrying in larger 

numbers. 
3. Explain why Italians may not want to have a large family. 
CONSEQUENCES 
4. Describe what is happening to Italy’s population. 
5. Describe Italy’s dependency issues. 
6. List two consequences for a country with a declining birth 

rate. 
7. Identify which stage Italy is in with regards to the DTM, and 

explain the long term consequences for staying in this 
stage.


